

Page 1 of 1

Florida Department of Transportation

Vendor Ranking

Call Order: 001 Contract:

Letting: 02240327 March 27, 2024 11:00 AM E21N0-R0

District 2 Fed Aid No: N/A District: Counties: BAKER, COLUMBIA,

DIST/ST-WIDE, Project(s): 41021257265 (*) **Contract Time:** 365 CALENDAR DAYS

Contract Desc: Large Machine Mowing, slope mowing, litter removal & Disposa

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$1,406,200.00	100.00%
2	JT RUBY CONTRACTING SERVICE INC	Non Responsive	Non-Winning Bid	\$1,418,025.00	100.84%
3	BOONE IMPROVEMENTS, INC.	Non Responsive	Non-Winning Bid	\$1,434,525.00	102.01%
4	COLLINS LAND SERVICES, INC	Responsive	Non-Winning Bid	\$1,539,475.00	109.48%
5	AMG OPERATIONS, LLC.	Responsive	Non-Winning Bid	\$1,825,240.00	129.80%
6	GRADING & BUSH HOG SERVICES, INC.	Responsive	Non-Winning Bid	\$2,068,930.00	147.13%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Florida Department of Transportation



Tabulation of Bids

Page 1 of 3

Letting: 02240327 March 27, 2024 Call Order: 001 Contract: E21N0-R0

District: District 2 Fed Aid No: N/A Counties: BAKER, COLUMBIA,

DIST/ST-WIDE, Contract Time: 365 CALENDAR DAYS **Project(s):** 41021257265 (*)

Contract Descr: Large Machine Mowing, slope mowing, litter removal & Disposa UNION
Large Machine Mowing, slope mowing, litter removal and disposal and trimming around appurtenances on primary roads in the Lake City Operations area. In Baker, Columbia, Hamilton, Suwannee, and Union Counties. RENEWAL OPTION. BID EXPRESS MANDATORY.

Line No / Item ID Item Description	Alternate Quantity Units	(1) T & M LAWN-FENCE SERVICE INC		(2) JT RUBY CONTRACTING SERVICE INC		(3) BOONE IMPROVEMENTS, INC.	
() indicates item is bid as	Lump Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	01 (LARGE MACI	HINE MOWING (AC	;				
0005 E107 1 1 LITTER REMOVAL	41,710.000 AC	20.00000	834,200.00	17.50000	729,925.00	17.50000	729,925.00
0010 E107 2 1 MOWING (LARGE MACHI	22,800.000 NE) AC	20.00000	456,000.00	27.00000	615,600.00	22.00000	501,600.00
0015 E107 2 2 MOWING (SLOPE)	580.000 AC	200.00000	116,000.00	125.00000	72,500.00	350.00000	203,000.00
0001 LARGE MA MOWII	I	\$1,406,200.00		\$1,418,025.00		\$1,434,525.00	
Co	ontract Grand Totals:		\$1,406,200.00		\$1,418,025.00		1,434,525.00



Florida Department of Transportation



Tabulation of Bids

Page 2 of 3

Letting:	02240327	March 27, 2024	4 Cal	l Order: 001		Contract:	E21N0-R0	
	e No / Item ID Alternate Quantity Description Units		(4) COLLINS LAND SERVICES, INC		(5) AMG OPERATIONS, LLC.		(6) GRADING & BUSH HOG SERVICES, INC.	
	ates item is bid as Lump Sum	,	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (LARGE MACHINE MOWING (AC								
0005 E LITTER RI	E107 1 1 EMOVAL	41,710.000 AC	22.50000	938,475.00	22.00000	917,620.00	25.00000	1,042,750.00
	E107 2 1 (LARGE MACHINE)	22,800.000 AC	20.00000	456,000.00	35.00000	798,000.00	35.85000	817,380.00
0015 E MOWING	E107 2 2 (SLOPE)	580.000 AC	250.00000	145,000.00	189.00000	109,620.00	360.00000	208,800.00
0001 LARGE MACHINE Section Totals: MOWING (AC)				\$1,539,475.00		\$1,825,240.00		\$2,068,930.00
	Contract G	Grand Totals:		\$1,539,475.00		\$1,825,240.00		2,068,930.00



Florida Department of Transportation

03/28/2024

Tabulation of Bids

Page 3 of 3

Letting: 02240327

March 27, 2024

Call Order: 001

Contract:

E21N0-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.